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HP 39gs Putting Sequences to work

Recursive vs. non-recursive

How do I find the value of Sy?
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HP 39gs Putting sequences to work

Recursive vs. non-recursive
Each definition U1, U2... U0 in the Sequence aplet has three components — term 1, term 2 and the general term Un.

A sequence can be defined recursively, as shown in the two examples on the below, so that the general definition refers back to
previous terms.

SEQUENCE SYMEDLIC VIEWE
Uz2<1>=1680

Uz2<2>=1088%1.65
=U2(N—1 )%1.065

i SEQUENCE SYMEBOLIC VIEW
U1<15=3

U1<2>=5

U1CMNI=U1CN-1)+2

SHOW | EVAL Figure 1 SHOW | EVAL Figure 2
Entering recursive sequences is made easier through the provision of short-cut keys. These appear on the screen keys (circled
below) but only when you are typing in the general term. In the Fibonacci sequence shown, entering U3(N-1)+U3(N-2) took only 5

keystrokes!

% SEQUENCE SYMEDOLIC VIEM 3

Figure 3

Changing to the NUM view allows you to view the sequence. To jump to any term you can scroll down or just type it into the N
column and press ENTER.

N Ul Uz | U3 N Ul Uz us
1 501 1.8886EB|7 . BI6ES]
1 503 1.983E8 |1.27BE52
2 52 505 2.0822EB|2. 067E52
3 53 507 2.1863E8|3. 3YSESS
5 54 509 2.2955E8|5. 412E52
8 55 |sn 2.4104EB|8. ?57E52
ESB

Figure 4 Figure 5

Note: If you enter values for the first two terms that are not consistent with the general term then this will not be regarded as an
error. The calculator simply assumes that you know what you are doing and that the first two terms are supposed to be different!

...... SEQUENCE SYMEDLIC VIEWE
Uicio=1
Uiczi=2
U1C{NY=2"C(N-1)

% SEQUENCE SYMEDLIC VIEMW

Figure 6 SHOW | EVAL Figure 7

How do | find the value of Sx?

Find the sum of the first 20 terms of the sequence 100, 105, 110.25...

Although the hp 39gs does not offer access to the sum of sequence (series) terms directly it is very easy to set this up.
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HP 39gs Putting sequences to work

Just set up your sequence terms U as one sequence (see below for an example) and then as your second sequence, enter the first
term and second term of the series. In this case they are U2(1)=100 and U2(2)=100+100*1.05

s SEQUENCE SYMBOLIC VIEW
U1<1>=168

U1¢2>=108%1.65

U1{N)=U1{N-1)%1.65

SHOW | EVAL

SEQUENCE SYMEDLIC VIEWE
U1CNY=U1{N-1>%1.85
Uz2¢1>=168

Uz2(2>=108+180+1.065
U2(N)=U2C(N=-1>+U1CND

Figure 8 SHOW | EVAL Figure 9

Note that there is no need to evaluate them. Now enter the general term of the series as U2(N)=U2(N-1)+U1(N). Note also the
reference to both sequences contained in the formula. Changing to the NUM view will now let you view the sequence and its series.

Finding Sz0 is a matter of scrolling down.
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[ N Ul Uz
5 197.9932(2157 . 856
[ 207 .8928(2365.749
7 218.2875(2584.037
8 229.2018(2813.238
9 240.6619
0 252.6495

Figure 10 Figure 11
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